
Ce
nt

er
 L

in
e 

of
 C

ab
in

et
 O

pe
ni

ng

(4) Screw and Pilot 
Hole Locations

Fold Template along 
dotted line to fit 
cabinet opening

Front edge of paper 
to front of cabinet 

(or front of face frame)

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

9.5” SOFT-CLOSE PULLOUT WITH BLUM TANDEM SLIDES WITH BLUMOTION

TOOLS REQUIRED:

30 MIN
ESTIMATED ASSEMBLY TIME:

CARE AND MAINTENANCE:

Clean with a damp cloth and 
wipe parts dry.

PARTS LIST

- Frame assembly
- Slide assembly
- (4) #6 x 1/2” flat head screw
- (4) #8 x 3/4” deep thread pan  
  head screw
- Template
- Rub Bushing Kit

3
32

 Attaching slide to cabinet

1)	 Using the screw and pilot hole locations, pre-drill (4) holes using a 3/32” drill bit.

2)	Remove template and attach the slide assembly to the floor of the cabinet using (4) #8 x 3/4” deep thread 
screws provided.

3)	With the slides in the fully closed position, place the frame on the slides and push back until you feel the 
slides engage the locking devices (you will hear a click sound). Fully cycle the frame a few times.

Attaching the cabinet door

1)	Using a 3/8” wrench, loosen the (4) lock nuts inside the front wall of the unit (See Fig 1).  

2)	Pull the attached Adjustable Door Mounting Brackets to ensure that you are mounting to the “thick” portion 
of the cabinet door (front of pullout should line up with front of face frame).

3)	Use the (4) #6 x 1/2” flat head screws provided to attach the door to the pullout unit.

4)	 If the door needs to be adjusted to lay flush against the face frame, loosen the lock nuts and turn the “T-Nut” 
screws so the T-Nut screws push against the metal bracket. Each corner can be adjusted independently. 
(Note: It is recommended that door bumpers be used on each corner to ensure quiet operation)

Install rub bushings using enclosed kit and instructions (Note: Chassis may need to be removed for proper installation)

Fig 1

T-Nut Screw for 
Tilt AdjustmentLock Nut

T-448SCFL-0120

3
8



Ce
nt

er
 L

in
e 

of
 C

ab
in

et
 O

pe
ni

ng

Front edge of paper 
to front of cabinet 

(or front of face frame)

 Attaching slide to cabinet

1)	 Using the screw and pilot hole locations, pre-drill (4) holes using a 3/32” drill bit.

2)	Remove template and attach the slide assembly to the floor of the cabinet using (4) #8 
x 3/4” deep thread screws provided.

3)	With the slides in the fully closed position, place the frame on the slides and push back 
until you feel the slides engage the locking devices (you will hear a click sound). Fully 
cycle the frame a few times.

Attaching the cabinet door

1)	Using a 3/8” wrench, loosen the (4) lock nuts inside the front wall of the unit (See Fig 1).  

2)	Pull the attached Adjustable Door Mounting Brackets to ensure that you are mounting 
to the “thick” portion of the cabinet door (front of pullout should line up with front of 
face frame).

3)	Use the (4) #6 x 1/2” flat head screws provided to attach the door to the pullout unit.

4)	 If the door needs to be adjusted to lay flush against the face frame, loosen the lock 
nuts and turn the “T-Nut” screws so the T-Nut screws push against the metal bracket. 
Each corner can be adjusted independently. (Note: It is recommended that door 
bumpers be used on each corner to ensure quiet operation)

Install rub bushings using enclosed kit and instructions (Note: Chassis may need to be removed for 
proper installation)

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

6.5” SOFT-CLOSE PULLOUT WITH BLUM TANDEM SLIDES WITH BLUMOTION

TOOLS REQUIRED:

30 MIN
ESTIMATED ASSEMBLY TIME:

CARE AND MAINTENANCE:

Clean with a damp cloth and 
wipe parts dry.

PARTS LIST

- Frame assembly
- Slide assembly
- (4) #6 x 1/2” flat head screw
- (4) #8 x 3/4” deep thread pan  
  head screw
- Template
- Rub Bushing Kit

3
32

Fold Template along dotted line to fit 
cabinet opening.

Fig 1

T-Nut Screw for 
Tilt AdjustmentLock Nut

T-448SCFL-0120

3
8

(4) Screw and Pilot 
Hole Locations



I-BLD-1122

LOCKING DEVICES

TOOLS REQUIRED:

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚

1 MIN
ESTIMATED ASSEMBLY TIME:

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
Customer Service: 800-626-1126

INSTRUCTIONS

If applicable, install locking 
devices. (See Fig A).

Narrow Wide

Locking devices will look different based on unit purchased. 
Turn unit upside down and attach triggers to front bottom of frame.

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚



I-BLD-1122

DISPOSITIVOS DE CIERRE / DISPOSITIFS DE VERROUILLAGE

1 MIN

12400 Earl Jones Way 
Louisville, KY 40299 
rev-a-shelf.com 
800-626-1126

Instrucciones de Instalación 
Instructions d’installation

Si corresponde, instale dispositivos 
de cierre (Fig. A). 
 
Le cas échéant, installez les 
dispositifs de verrouillage (Fig. A). 
 

Estrecho / Étroit Amplio / Large

Los dispositivos de cierre tendrán un aspecto diferente según la unidad adquirida. 
Les dispositifs de verrouillage seront différents selon l’unité achetée.

Gire la unidad boca abajo y coloque los disparadores en la parte inferior delantera del marco. 
Retournez l’unité et fixez les déclencheurs à la partie inférieure avant du cadre.

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚

INSTRUCCIONES DE INSTALACIÓN / INSTRUCTIONS D’INSTALLATION

Herramientas requeridas:
Outils Requis:

Tiempo estimado de ensamblado:
Durée de l’installation: 

1
4

1
8

1
16

3
8

3
32

7
64

#2 #1 5
16

5
8

1
2

3
8

2” 1” 90˚


